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        FILL IN THE GAPS WITH THE WORDS GIVEN. ONE WORD IS EXTRA.
                                                                                                                                                          3 points
 (
 
data
   fail    
sample
 
   server   sign    superiors    system    
     
)

1   I will have to report these to my __________.
2   I should like to see a__________ of your work to decide whether it is good or not.
3   He was really confusing. He didn't know what that road __________ showed.  
4   In Our country a good __________ of education can help to stop unemployment.
5   The questions were too difficult. Many students seem to__________ the test.
6   We shall process the___________ on the computer and print out the results.

 
              MATCH THE WORDS AND THE DEFFINITIONS.   ONE WORD IS EXTRA. 
                                                                                                                                                                                          3 points

	DEFFINITIONS
	WORDS

	  7  help for the people  
  8  not connected with sth 
  9  not natural but made by people                                           
10  move sth from one place to another    
11 the largest possible amount or degree of sth
12  a building where religious women live, work and pray

	(a)   artificial
(b)   charity
(c)   convent
(d)   extreme
(e)   irrelevant (f)    slum
(g)   transfer










  
      CHOOSE THE BEST OPTION. ONLY ONE ANSWER IS CORRECT. 2
                                                                                                                                                           4 points
13   You can not park your car here. It is a ______property.
       (a)  performance      (b)  poverty            (c)  prevent          (d) private                                   
14   We are looking for new ways to improve the ______of our team.           
       (a)  performance      (b)  poverty            (c)  prevent          (d) private                                   
15   There are millions of people who are still living in ______.
       (a)  performance      (b)  poverty            (c)  prevent          (d) private                                  
16   Her parents tried to______her from going to live with that bad boy.
 (
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2
)       (a)  performance      (b)  poverty            (c)  prevent          (d) private
                                   
17  The situation was so______that we couldn't find a simple solution.
       (a)  cave                   (b)  communicate          (c)  complex               (d) compose          
18  You need a better software to be able to ______to the Internet.
       (a)  cave                   (b)  communicate          (c)  complex               (d) connect      
19  We can now ______instantly with people on the other side of the world. 
       (a)  cave                   (b)  communicate          (c)  complex               (d) compose          
20  I was climbing the mountain when it started to rain, so I had to stay in a______.
       (a)  cave                   (b)  communicate          (c)  complex               (d) compose          
 (
STRUCTURE
)

 

             CHOOSE THE BEST OPTION. ONLY ONE ANSWER IS CORRECT.
                                                                                                                                                                                     4 points
21   Some people send their children to work, ______ others send them to private school.
       (a)  because                  (b)  therefore             (c)  whether              (d) while                          
22   She is learning English ______ study medicine Canada. 
       (a)  in order to             (b)  for                        (c)  however             (d) so that
23   He set the alarm clock ______ he could arrive on time.
       (a)  in order to             (b)  for                        (c)  however             (d) so that
24   He couldn't pass the test, ______ he had studied hard for it. 
       (a)  although                (b)  in order to            (c)  so as to               (d) whereas
25   Tom enjoys his job, ______ he doesn't make enough money to support his family.
       (a)  since                      (b)  even though         (c)  therefore            (d) whether              
26   She______ have gone out with her friend, but I am not sure.
       (a)  might                     (b)  should                   (c)  must                   (d) will                    
27   I'm feeling sick, I ______ have eaten so much chocolate.
       (a)  might  not             (b)  should not             (c)  must not            (d) won't                    
28   She ______ have left home last night. I'm sure.                                       
       (a)  might                     (b)  should                   (c)  must                   (d) will                    	 


              WRITE THE CORRECT FORM OF THE WORDS IN PRANTHESES.
                                                                                                                                                                        3 point  
              
  29  It isn't very easy to find this place. He _______ his way. (may lose) 
  30   The staff are working at weekends _______ the project soon. (complete)                                                                        
  31  She was happy. She _______ her exam successfully. (must pass)

 (
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               JOIN THE FOLLOWING SENTENCES WITH THE WORDS IN PARENTHESES.1
                                                                                                                                                                   3 points
32    My father got up early. He didn't want do miss the train. (so as to)

33   I usually like classic music. My wife likes Jazz music. (while)
34   We went out for a walk. The weather was cold and windy. (even though)
 (
SENTENCE  FUNCTION
)
    

     MATCH THE ITEMS IN A WITH THE MOST APPROPRIATE ONE IN B.  
      THERE IS ONE EXTRA ITEM IN B.  
                                                                                                                                                                  
                                                                                                                                                 4 points
	A
	B

	35   A space probe is a robot vehicle used  
36   Edison worked on many projects,
37   There is no simple way to stop child labor  
38   A computer is a programmable machine   

39   Peace is important 
40   Good food is necessary
41   A telescope is an instrument 
42   We can get lessons from great men and women  

	(a)  but it is no reason for inaction. 
(b)  that accepts data and processes them.
(c)  including sound recording devices. 
(d)  because it helps people  work together.
(e)  in order to explore deep space. 

(a)  that orbits another object.
(b)  because it keeps our body healthy.
(c)  such as Edison, Shakespeare, and Mother Teresa.
(d)  because it helps people live and work together.
(e)  that magnifies distant objects.   
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     READ THE TEXT AND FILL IN THE GAPS. CHOOSE THE CORRECT WORD!   
                                                                                                                                                                                     5 points
One of the most interesting things about information is that we are able to get and use it on many new and (43) ____ kinds of information (44) ____ such as computers, radios, and so on. Among all these computers have (45) ____ the most attention since they have made it (46) ____ to store and process a large (47) ____of information. The Internet is an example of a communication technology. It helps us to communicate (48) ____ and inexpensively. It (49) ____ many services, such as e-mail, file (50) ____, access to stored information and programs. You can do (51) ____shopping, and education from (52) ____. So it is wide area!
	43
	44
	45
	46
	47

	(a)  different
(b)  difficult
	(a)  biology
(b)  technology
	(a)  attached
(b)  attracted
	(a)   possible
(b)  probable
	(a)  among
(b)  amount

	48
	49
	50
	51
	52

	(a)  effectively
(b)  efficiently
	(a)   prepare
(b)  provide
	(a)  transfers
(b)  transports
	(a)  online
(b)  outline
	(a)  distance
(b)  distant
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                READ THE FOLLWING TEXT AND THEN CHOOSE THE BEST OPTION.                                                                                                                                                                                                                              
                                                                                                                                                                                         11 points
Advantages and disadvantages of traveling by train
Traveling by train has many advantages. First of all, there are no stressful traffic jams, and trains are fast and comfortable. Also, you can use the time in different ways. For example, you can just sit and read, or watch the world go by. You can work, or you can have a meal or snack in the dining car.
However, traveling by train also has some disadvantages. First, it is expensive and the trains are sometimes crowded and delayed. Second, you have to travel at certain times and trains cannot take you from door-to-door. For example, you need a bus or a taxi to take you to the train station.
I prefer traveling by train to traveling by car, because I feel more relaxed when I reach my destination.
	53    We should be on time to catch the train 
	T
	F
	N

	54    The trains are never crowded and delayed.
	T
	F
	N

	55    Trains can take us to any destination we want to go.
	T
	F
	N

	56    It is recommended to travel by plain than other vehicles.
	T
	F
	N

	57   Traveling by train has no disadvantages.
	T
	F
	N

	58   You can feel relax when you travel by train.
	T
	F
	N










One of the best-known American writers is Samuel Clemens, whose pen name is Mark Twain, born in 1835, Twain grew up in the Mississippi River town of Hannibal, Missouri. As did many other boys of his day, Twain dreamed of traveling on river boats and of someday becoming a river boat pilot. Twain used his memories of the life of a river town most famous books, Huckleberry Finn and Tom Sawyer. As a young man Twain held many jobs. He was a painter, a gold miner, and a river boat pilot. During his pilot days, he chose the name Mark Twain.
Later Twain become a successful writer. He traveled a great deal, writing and speaking, and become very popular both in the US and in Europe. Twain's style of writing was simple and direct. Among the things he wrote about were people who were not clever and people who were easily fooled. He used his unusual gift for humor to write about many things of importance.     

	59   He became a writer before he was a painter.
	T
	F
	N

	60   He wrote about stupid people.
	T
	F
	N

	61   He used his unusual gift for humor to write. 
	T
	F
	N

	62   Twain made a lot of money by writing stories.
	T
	F
	N

	63   before h became a successful writer, he traveled a lot.
	T
	F
	N
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